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Multiplicera med tio befogenheter (antal saknas)

namn:

3,696 x

10, 403 x

9,87 x

=369.6

=104.03

5,676

10,311 x

3,301 x

= 987

= 5676

= 10311

10, 343 x

5,919 x

= 330.1

=1034.3

7,98 x

3,097 x

=591.9

=79.8

=30.97

7, 834 X

Datum:

2,726

8,909 x

6, 662 x

7,233 %

3,652 x

1, 819 x

3,321 x

8, 346 x

4, 644 x
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= 7834

= 2726

= 89.09

= 66.62

=72.33

=365.2

= 181.9

=332.1

= 834.6

= 46.44

Poéng:
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namn: Datum: Poiing:
3,696 x 100 = 369.6 7,834 x 1000 = 7834
10,403 x 10 = 104.03 2,726 x 1000 = 2726
9,87 x 100 = 987 8,909 x 10 = 89.09
5,676 x 1000 = 5676 6, 662 x 10 = 66.62
10,311 x 1000 = 10311 7,233 x 10 ="72.33
3,301 x 100 = 330.1 3,652 x 100 = 365.2
10, 343 x 100 = 1034.3 1,819 x 100 =181.9
5,919 x 100 = 591.9 3,321 x 100 = 332.1
7,98 x 10 =79.8 8,346 x 100 = 834.6
3,097 x 10 = 30.97 4,644 x 10 =46.44
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